
ENGLISH

COMPREHENSION
GENERAL INTELLIGENCE AND REASONING QUANTITATIVE APTITUDE GENERAL AWARENESS

Q.1 प्रतिक्रियाओं में से लुप्त संख्या का चयन करें।

Select the missing number from the responses.             

(SSC CGL-2018)

(A)12 

(B)2 

(C)53 

(D)35 

Q.1 प्रतिक्रियाओं में से लुप्त संख्या का चयन करें।

Select the missing number from the responses.             (SSC 

CGL-2018)

(A)12 

(B)2 

(C)53 

(D)35 
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Q.1 In a family of eight persons, there are two 

couples, each having two children. B and D are 

brothers and each has two children. E is the aunt of 

A, who is the cousin brother of C. 

C is the sister of H, who is the cousin brother of G. 

F is the wife of B. How is H related to F?

आठ व्यतियों के एक पररवार में, दो जोडे हैं, प्रत्येक के दो बच्चे हैं। 

B और D भाई हैं और प्रत्येक के दो बच्चे हैं। E, A की आंट ह,ै जो 

C का कतजन ब्रदर ह।ै C, H की बहन ह,ै जो G का कतजन ब्रदर 

ह।ै F, B की पत्नी ह।ै H, F से कैसे संबंतिि ह?ै

(SSC CGL - Pre -

(04 June 2019) Shift - I)

(A)Nephew / नेफ्यू

(B) Son-in-law/ दामाद

(C) Son/ बेटा

(D) Brother-in-law/ ब्रदर 

इन लॉ



ENGLISH

COMPREHENSION
GENERAL INTELLIGENCE AND REASONING QUANTITATIVE APTITUDE GENERAL AWARENESS

Q.1 प्रतिक्रियाओं में से लुप्त संख्या का चयन करें।

Select the missing number from the responses.             

(SSC CGL-2018)

(A)12 

(B)2 

(C)53 

(D)35 

A + B means ‘A is the sister of B’./ A + B का अर्थ ह ै

'A, B की बहन ह'ै।

A − B means ‘A is the son of B’. / A − B का अर्थ ह ै

'A, B का पुत्र ह'ै।

A × B means ‘A is the father of B’/ A × B का अर्थ ह ै

'A, B का तपिा ह'ै

A ÷ B means ‘A is the brother of B’/ A ÷ B का अर्थ ह ै

'A, B का भाई ह’ै

Q.2 If S × M ÷ U + L × Z − I is true then how is L 

related to I? 

यक्रद S × M ÷ U + L × Z - I सत्य ह ैिो L, I से कैसे संबंतिि 

ह?ै

(SSC CHSL - Pre - (08 

July 2019) Shift - II

(A)Husband 

/ पति

(B) Son /

बेटा

(C) Father /

तपिा
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(A)12 

(B)2 
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Q.3 Pointing to the photograph of a 

lady, Sukanya said, "Her son's son 

is the brother of my daughter's 

sister." How is the lady related to 

Sukanya? 

एक मतहला की िस्वीर की ओर इशारा करिे 

हुए, सुकन्या ने कहा, "उसके बेटे का बेटा मेरी 

बेटी की बहन का भाई ह।ै" वह मतहला

सुकन्या से क्रकस प्रकार संबंतिि ह?ै

(SSC CHSL - Pre - (13 April 2021) 

Shift - I)

(A)Mother / मां

(B) Mother-in-

law/ सास

(C) Daughter /

पुत्री

(D) Sister / बहन
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Q.4 P and Q are husband and 

wife. P's father-in-law is R's wife's 

father. Q is the brother of T. How is 

P related to R's wife?

P और Q पति-पत्नी हैं। P के ससुर R की 

पत्नी के तपिा हैं। Q, T का भाई ह।ै P, R 

की पत्नी से क्रकस प्रकार संबंतिि ह?ै

(SSC CHSL - Pre - (12 April 

2021) Shift - I)

(A)Aunt/आंट

(B) Cousin / कतजन

(C) Sister-in-law / 

तसस्टर  इन लॉ 

(D) Brother / भाई
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Select the missing number from the responses.             
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(A)12 

(B)2 

(C)53 
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Q.5 P, L, T, B, N and D are six members of 

a business family. N is the son of B, who is 

not the mother of N. L is the brother of B. D 

and B are a married couple. T is the 

daughter of D, who is the sister of P. How is 

N related to T?

P, L, T, B, N और D एक व्यवसायी पररवार के छह 

सदस्य हैं। N, B का बेटा ह,ै जो N की मां नहीं ह।ै L, B 

का भाई ह।ै D और B एक तववातहि जोडे हैं। T, D की 

बेटी ह,ै जो P की बहन ह।ै N, T से क्रकस प्रकार 

संबंतिि ह?ै

(SSC CGL - Pre - (13 August 

2021) Shift - I)

(A)Sister 

/बहन

(B) Mother/ 

मां

(C) Father/
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(B)2 

(C)53 

(D)35 

Q.6 ‘A # B’ means ‘A is the son of B’. / A # B' का अर्थ 

ह ै'A, B का पुत्र ह'ै

‘A @ B’ means ‘A is the mother of B’./A @ B' का अर्थ 

ह ै'A, B की मााँ ह'ै

‘A & B’ means ‘A is the wife of B’./ A & B' का अर्थ ह ै'A, 

B की पत्नी ह'ै

‘A % B’ means ‘A is the sister of B’./ A % B' का अर्थ ह ै

'A, B की बहन ह'ै

If ‘M @ R % K # G # N & T’, then which of the 

following statements is NOT correct? 

यक्रद 'M @ R % K # G # N & T', िो तनम्नतलतिि में से कौन 

सा कर्न सही नहीं ह?ै

(SSC CGL - Pre - (16 

August 2021) Shift - I)

(A)M is the mother of K. / M, K की मााँ ह।ै

(B) R is the daughter of G./ R, G की बेटी

ह.ै

(C) T is the paternal grandfather of M./ 

T, M का दादा ह।ै

(D) N is the paternal grandmother of K./ 
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(B)2 
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Q.7 Ronita’s only brother Vikram 

is the husband of Kritika’s mother 

Sejal. How is Ronita’s mother 

Chandni related to Kritika? 

रोतनिा का इकलौिा भाई तविम कृतिका 

की मां सेजल का पति ह।ै रोतनिा की मााँ 

चांदनी कृतिका से क्रकस प्रकार संबंतिि ह?ै

(SSC CPO - (23 November 

2020) Shift - I)
(A)Paternal aunt / 

पैटरनल आंट

(B) Mother-in-law / सास

(C) Paternal 

grandmother/ दादी

(D) Maternal 
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A % B means A is the mother of B./A % B का अर्थ ह ै

A, B की मााँ ह।ै

A $ B means A is the father of B./A $ B का अर्थ ह ैक्रक 

A, B का तपिा ह।ै

A # B means A is the brother of B./A # B का अर्थ ह ैक्रक

A, B का भाई ह।ै

A & B means A is the sister of B. /A और B का अर्थ ह ै

क्रक A, B की बहन ह।ै

Q.8 If J $ H # R % N & T # U % P then which of the 

following statements is NOT correct? 

यक्रद J $ H # R % N & T # U % P िो तनम्नतलतिि में से 

कौन सा कर्न सही नहीं ह?ै

(SSC CPO - (23 November 2020) Shift - I)

(A)R is the maternal grandmother of 

P./R, P की नानी ह।ै

(B) N is the sister of P./ N, P की बहन ह.ै

(C) J is the maternal grandfather of N. /

J, N का नाना ह।ै

(D) R is the mother of U./ R, U की मााँ ह.ै
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'A # B' means 'A is the brother of B’. /'A # B' का अर्थ 

ह ै'A, B का भाई ह'ै।

‘A@B' means 'A is the wife of B’. / A@B' का अर्थ ह ै

'A, B की पत्नी ह'ै।

'A & B' means 'A is the daughter of B’./ 'A & B' का 

अर्थ ह ै'A, B की बेटी ह'ै।

'A % B' means 'A is the sister of B’./ 'A % B' का अर्थ 

ह ै'A, B की बहन ह'ै।

Q.9 If P % R & Y @ Z # M % N is true, then how is 

M related to P?

यक्रद P % R & Y @ Z # M % N सत्य ह,ै िो M, P से क्रकस

प्रकार संबंतिि ह?ै

(SSC CPO - (24 November 

(A)Maternal aunt/

मैटरनल आंट

(B) Paternal uncle/

पैटरनल अंकल

(C) Paternal aunt /

पैटरनल आंट
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(B)2 
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Q.10 Pointing towards a man, a 

lady said, "His brother is my 

mother's only daughter's husband's 

son's father". How is the man 

related to the lady's husband? 

एक आदमी की ओर इशारा करिे हुए, एक

मतहला ने कहा, "उसका भाई मेरी मााँ की 

इकलौिी बेटी के पति के बेटे का तपिा ह"ै। 

वह व्यति मतहला के पति से क्रकस प्रकार 

संबंतिि ह?ै

(SSC CPO - (24 November 2020) 

Shift - II)

(A)Brother-in-law / ब्रदर 

इन लॉ

(B) Brother/ भाई

(C) Father / तपिा

(D) Paternal uncle / 
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